Introduction to Digital Design with Verilog HDL

Exercise 1: What changes would result in a 3-input OR gate?

// AND gate in Verilog

ex1l (1 ic a, b, c,

] y=a]|b]c;

Exercise 2: What schematic would you expect if the statement was
assign y = (Ca ~b) | c;?

Exercise 3: If the signal i is declared as logic [2:0] 1i;,whatis
the ‘width’ of i? If i has the value 6 (decimal), what is the value of
i[2]? Of i [0]?
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Exercise 4: Use slicing and concatenation to assign y the value of
the byte x with its nybbles swapped.
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Exercise 5: What is the value of the expression3 7 10 : 20? Of

the expressionx 7 1 : 0if x has the value 0? If x has the value v o
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Exercise 6: Draw the schematic correspondingto: y = a ? (b
?7 sl :s2): (c? s3: s4)
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Exercise 7: Write a Verilog description of a 4-bit 3-to-1 multiplexer
controlled by a 2-bit sel input? Label the inputs a (for se1=00)
through c (for sel=10).
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Exercise 8: What are the sizes and values, in decimal, of the fol-

lowing: 4b1001, 5'd3, 6'h0_a, 3?
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